@Hﬂﬁh Which Symbol?

Put in the missing symbols in to make these number sentences correct.
Use one of these symbols: +, —, x, +, and =.

What does the box stand for? Put the symbol in here.

16L118 =34 16 18 =34
471128 =19 47 28 =19
1812 = 9 18 2 =0
30[]10 x 3 30 10 x3

All these number sentences below, except two of them, have two answers.

Can you find the symbols to use?

513615 51 36 15 51 36 15
45 5[ 9 45 5 9 45 5 9
273663 27 36 63 27 36 63
701456 70 14 56 70 14 56
7 5035 7 5 35 7 5 35
50 5 1o 50 5 10 50 5 10

Which two number sentences have only one answer?
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